SUBTRACTING UP TO 1 000 000 WITHOUT CARRYING (H - SET 3)

TEST 2

Name:

Time: Score:

0 638883 — 100113 =

2 532216 — 111104 =

39 515259 — 113056 =

1644253 — 112121 =

5 332485 — 301315 =

6 532643 — 432530 =

N 548974 — 446913 =

9774793 — 374190 =

9 682001 — 352030 =

100 284177 — 41021 =

12083714 — 2000304 =

12) 4535092 — 3303071 =

1) 231578 — 111213 =

14260054 — 60043 =

15 314543 — 12332 =

Mathematics: Subtraction - Level 7 - Horizontal - Set 3
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936432 — 224432 =

255126 — 250115 =

984200 — 653200 =

518926 — 400104 =

960446 — 300013 =

921564 — 820443 =

303395 — 300380 =

9870553 — 7210341 =

7585101 — 5102001 =

596880 — 533570 =

425019 — 424007 =

273613 — 213200 =

915304 — 700004 =

462454 — 321130 =

258787 — 148330 =
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